Triple Variable Simultaneous Equations

Solve these sets of simultaneous equations:

1. 2a+b+c=11 CIX+y+z=-1
a+2b+3c=20 x_3y_|_ZZ:O
3a+3b+2c=23 X+4y—3z2 =4

2. 2X+y+2=0 . 2d-3e+5f =—1
X+4y—3z=0 3d—de+2f =1
x—3y =16 5d +3f =7e

3. p+Q+r=6 ;. 10m+20n+404 =1
2p+q-r=1 3m+7n+104 =0
p—q+r=2 25m+12n+371 =0

4. 25S+3t+u=1
s—-t+u=4
5s+t+3u =10

What about these?

What value do you assign to each icon What value do you assign to each icon

to make the equations true? to make the equations true?
Wu+@+o =11 CE+8+7 =0
Ui@@+5 88 =20 B+8EBE-(T1)=0
BUB+&+ 58 = 17 H-@eg =16

Try these...

a+b+c+d=0
2a+b+2c+d=-1
a+b—-c—-d=0
a+2b-c-2d =1

x*+y+z=1988
x +y* +z=2020




Triple Variable Simultaneous Equations

Solve these sets of simultaneous equations:

1. 2a+b+c=11 5. IX+y+z=-1
a+2b+3c=20 x_3y_|_ZZ:O
3a+b+2c=23 X+4y—37 =4
a=2, b=3, c=4 135

2. 2X+y+2=0 o 2d-3e+5f =1
X+4y—-32=0 3d—de+2f =1
X—3y=16 5d +3f =7e
x=4,y=-4,z=-4 250

3. P+a+r=>6 ;. 10m+20n+404=1
2p+q-r=1 3m+7n+104=0
p—q+r=2 25m+12n+371 =0

1,2,3 -0.1, -0.1, 0.1

4. 25+3t+u=1
s—-t+u=4
55+t+3u =10
1,-1,2

What about these?

Rabbit = 2 Rabbit = 4
Egg = 3 Egg = -4
Chick = 4 Chick = 4

Try these...

g:z X =16
c=-6 y=17
d=3 z=1715



